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(Elementary Functions)

I. e' f 0 vpwii  z bW2lf~l  51 e' = 0 &GO

e"(cosy+isiny)  =  0

cosy+isiny  =  0
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15. a%? z =  x t i y ?Gld Z =  x - i y

sin Z = sin x cosh(  - y) + i cos x sinh( - y)

= sin x cash  y-i cos x sinh y

zz sin z

Iuhm~iiera~u  mn& 12 c!X

cos 2 = cos x cosh(  - y) -i sin x sinh(  - y)

= cos x cash  y+i sin x sinh y

= cos 7.

c;iaaha  wm-i~  z 8infwnl3  c o s  z = 3

3%1  10s”  z = x+iy

cosz  = c o s x c o s h y - i s i n x s i n h y  =  3

c o s x c o s h y  =  3 l&R’. sin x sinh y = 0

vmwmit?zd  2 rmGiGkaw7  $51

1. sinx = 0 tKit cos x cash  y = 3

2. sinh y = 0 ttfir cos x cash  y = 3

ndv7  f 51 sin x = 0 ttnt cosxcosh y = 3

‘&i-A x = kn ttat cos kn coshy =  3

. (-  l)%osh  y = 3. .

Lwa1t-h cash  y > 0 ywh y @K&A

k = 21

cash  y =
ey + eey__ =3

2

eY+eeY-6  =  0

(e’)‘-6eY+  1 =  0

= 3tm

Y = Pn(3+2\12) M% Pn(3 - 2Q

7. zz x+iy
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tan-‘z  = ilogE
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